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You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number, Use marker or when to fill the circles.

( SECTION-A i)

Q.1 Questions (A) (B) (C) (D)
Least count of digital Vernier Callipers
i) |15 1 mm 0.001 mm 0.1 mm 0.01 mm
e b SIS
Which of the following is a vector Speed Distance | Displacemen Power
ii) quantity: t
:‘L/ﬁgjzlﬁf‘u’d[ éz",“ Lals D J}.l;
Unit of momentum is: , .
. N _ _
111) S fd"/’” Ns m kgms Ns
A stone 1s rotating in a circle 1n a
radius 1m with speed10ms~t. The
mass of stone 1s 100 g.
iv) | Imy= 46U s/ Ll 100gU WU~ ALl | 20ms™ lms?_@\ 10ms™1 100ms™1
b B Snud S e e\ S S O\
-« 10ms™1 Oi\?\\‘ ]
The value of tan 45° is: N | 0,500 0707
v) et xslTan 45° J:”{//ﬁ% ' '
The value of ‘g’ at a height on earth\§<‘{:§5
radius above the surface of earth 1 N
vi) /wd,uzw,ccwa,wé‘@d/ | 28 12 g 1/3g 1/4g
Ld}"
The work done will be zero when
vii) angle between force and distance 1s: 00)° 45° 60" 180°
:‘L:df)d.l{'ﬂL,L"GJJ’JJ);/K'K)’Z);J)
Kinetic energy of a body having a
mass of 2 kg and speed 5ms~1 is:
Viii) U@'JK?ﬁSms_lé;z:l,’l/C@JW(’?u/ﬁ 20 251] 5017 1231
:gf n S/
Which of the substance 1s the lightest | Copper Aluminium Mercury Lead
ix) |one:
e et suf 1 ko S/, e
) The range of clinical thermometer is: 2500.42°C | 30°040°C | 25°can°c | n0°Cancc
% S - - - _
%dﬁczgﬁ//’fﬂ/‘_ﬁ.‘fg
| Specific heat of water 1s: 4200kg 4200 4200 4200
X1) Sreos® a7 §3| JK Jkg 1K JkgK ™1 Jkg~1K™1
0 SI unit of thermal conductivity is: Wm™1K WmK™! | Wm iK™ Wm K
X1
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(5x2=10)
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i Define least count. What is the least count of a ¥ <45 &od €3 4 -..é - S e
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3. Write short answers to any Five questions:
1.
ii.

111.

1V.

VI.

Vil.
Viii.
4. Write short answers to any Five questions:
1.

i1.
111.

1V.

V1.

Vil.

V1il.

. Define hydrometer and wnte\t’

meter rod?

Define base quantities and derived quantities.

How do the prefixes micro, nano and pico relate
to each others?

What 1s the relation between force and
momentum?
. What 1s co-efficient of friction?

Write two methods of reducing friction.

What 1s meant by gravitational field strength,
write 1ts value on earth?

Why 1t 1s said that gravitational force 1s a non-
contact force?

Define graph and write its uses.
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Why vector quantities can not be adde and d”/ L UF S Ui A S P} Sustir Ay ii

subtracted like scalar quantities? k\ <> S
R

If mass of 5 litre of water 5 ggV%alculate 1ts

density. SR \
1tS uses.

Why does the atmospheric pressure vary with
height?

Define green house effect.@pakcity.org%o

What is meant by convection current?

Describe resolution of force.
Define centre of mass.
Narrate name of states of equilibrium.

Define heat and electrical energy.

. Write two methods by which nuclear energy is

released.
What 1s wind energy? Write its uses.

What do you mean by upper and lower fixed
points on thermometer?

Define latent heat of fusion.

(5 x 2 = 10)
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Note: Attempt any two Questions. (9 x2=18) %pakciw.org%o-QI J' ..:.«Ulﬂ:é.(jf )

5. (a) State and explain Newton’s third law of motion
with examples.

(b) The gravitational force between two identical
lead spheres kept at 1m apart 1s 0.006673N.
Find their masses.

6. (a) Explain in detail the types of motion.

(b) The head of a pin 1s a square of side 20mm, find
the pressure on 1t due to a force of 40N.

7. (a) Define energy and write a note on three forms of
energy.

(b) Find the magnitude and direction of a force, if
its x-component is 12N and y-component is SN.
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